Addition of large numbers

651 girls and 727 boys
attend SL School. How

many students attend
SL School?

651 Girls 727 Boys
The country Gabbon

—

has a population of
1534889. Qatar has
164547 more people
than Gabbon. What is
Qatar's population?

Gabbon: 1534889

Qatar:1?7?736

Use the information
given to calculate how
many minutes in one
year? (not a leap year)

Minutes from Jan-Jun: 260640
Minutes from Jul-Dec: 264960

A cargo plane weighing
276269 kg is used to

deliver a fire truck
weighing 22685 kg to
another city. What's the o o

combined weight of the
plane and truck?

Filling the pool required
two days. 347396 L of
water was pumped on
day 1.296885 L on day
2. How much water was
needed to fill the pool?

Name:

Date:

Distance to the moon: ®
384403 km. Return
distance: 394598 km. b ek
What is the total :
distance to the moon  384403km
and back? " ‘

‘

The information
displayed shows car
sales from 2008 to
2011. How many cars
were sold in 2010
(87286) and 2011
(89423) combined?

The picture shows the
distances flown by a
plane. How far did the
plane fly to reach
Young from Cambell?

3968 kg of coal is
loaded onto a truck
weighing 5642 kg.
What's the combined
weight of the truck and
coal?

A property investor
bought two houses.
One for $256459 and
the other for $364327.

How much was paid for

the two houses?

Car Sales 2008-2011
A 2008 - 93568
A 5009 - 101998
2010 - 87286
e @

2011 - 89423
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